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SUBJECT: MATHEMATICS
DURATION: 2 HOURS

MATHEMATICS

INSTRUCTION: Anywer all the questions.

SECTION A

Write in words 8056,

(a) Eizhly thousand five hundred and six
(b}  Light thousand and fifty-six

{c) Eight hundred and fifty-six

(d) Eight thousand ve hundred and six

What 1% the place value of 6 in 4 5(6)1 37

(a) Tens bl Thousand {c) Unit (e} Hundred
Put <, = or ~ in the box below.

269 [ ] 296

{a} = i = (c) :

Wrnile mn Roman numeral 120

{a) LXX {h) CXX ic) X' {d} XCX
Change ™/, to a mixed fraction.

fa)y gL by« Ff © 10, (dy &4,
Y2 is equivalent to .................

¢t B 4 1} T y
Change '/, to a decimal.

[a) 007 {hj 10.7 (c) 0.7 (d) 1.7

Ina school, there are 349 boys and 465 girls How many pupils are i the schoal?
(a) 814 (b} 116 {c) 124 {d} 246

Find the difference between 8300 and 1 725
(a) 7400 ih) 6575 ic) 7425 () La2s



15.

25.

26,

Fillin the missing numbers:
b S

() | 25.30 (b} 27.35 (©) 30,35 @ 2732

Simplify ¥, - 7/,
(¢3RN {7y A ey K {: F R X

Arrange the followng numbers in ascending order { from smallest to the largest)
214,208, |82, 39

{a) M9, 182,214,408 i) 408, 309,214, 182

(b 152,309, 214,408 idy 182,214,309, 408

Weite [ X VI 10 arabic numerals.

(a) 47 (b} 07 {c) &7 {d) 117
Write 3628 inexpanded form.

{a} SO0+ 600+ 2001 8 (c) SO0+ 20 8 R

i) SO000 + SO0+ 2004 B0 (dj 3+6+2+ 8

Change 37/, to an improper fraction.
@y Y by &y L (d) i

Addup 3.532and 2 51
(2} 3055 (h) 1.022 () 3.024 () 0042

Multiply 47 by 5 using grid method.

(a) | ¥ -‘H]l. 7 o} wlao 7 | i | % 40 7 HIJ: X _4[!- fi
5 20035 5 500 30 5 210 40 (6 24032
What isthe productof 32 and 417 (a) 1200 (b) 1312 ey 9 (dy 73

Find /. 0f40 A m 12 (c) 10 (dy %
Fvaluate 3’ X2 (a) 36 (b 12 (<) 16 (dy 25
Multiply4.5by2.3. (a) 815 (b) 935 (c) 1035 (d) 635

Find the value of'y, if y+15 = 6% {a) N (), 53(c) S50 (d) 83
Findthe LCMof12and15.¢a) o0 (b)) 30 (o) 120 (d) 3

B @ A

() polyzon (k) 4-I3shapes  (c) 3-I}shapes (d) 2-Dshapes

How many seconds are there in 2 minutes?
{a) 6l seconds  (b) 120seconds  {c) M) sccomds (dy 100 seconds

A basket contams 75 apples. How many apples are there in 4 baskets?
(a) 19 {h) 79 {c) 00 {d) 475



27, What is the mode of these data”

?1 h!ﬂ T1 ?:31 61 Tl ]

{al 7 {b) i () 3 {d) ]
2H. Fstimate 986 to the nearest thousand.

(a) 900 (b) 200 (¢}  S000 (d) 1000
29,  Findthe square root of 36,

{a) 18 {h) (3] {c) 12 () 1296

30. Amanbought an umbrella for#41235 und sold it for 31112, Find the profit or luss,
{a) 123 1oss (b)  M235loss (¢) ™23 proft (d) #1458 profit

SECTION B
QUANTITATIVE REASONING
Instruction: Use the samples below to answer the guesrions,
Samples.
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Samples:
34,
35
36.
Samples:
L
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38.

39.

240,

P
H

12 96
?
{a) (1] {h) l& i) 12
7 36
4
(a) i (b) 9 ich 8
6 60
?
{2) 10 {b) 30 ic) 20
SECTION C
THEORY
Smmply 5+ 2%

Atank contained 7668 hitres of water, 2179 litres of water was used for cooking at a party, How much

water is left?
Multply 317 by 5 using the grid method.
Find the valuc of K, if K + 25=60

Evaluate Jod4 - J36

(d)

(d)

(d)

Muths Pry 4 Cont.
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